MEREEVOTRICHNSERMEERIEEY (VOO FNERNEEAERR

TRR0ERE
% a3 L A OE # B
I HER TTL’;JEF NIETR I R ISl SV "2; e W=
2F 14E348 0.021 0.0033Ki# | 0.0025K7 | 0.0025K:#H | 0002k | 0.002K7H
AT NSRS E RN E TS 3F 3-45FF 0.024 0.003Ki# | 0.002Ki# | 0.002Ki# | 0.0025Ki#H | 0.0025KiH
ABreR R B R AME1-3-3 3F 54148 0.025 0.0035# | 0.002kK# | 0.002K# | 00025k | 0.0025%;H
4F 3FE14H 0.029 0.003Ki# | 0.002:Ki& 0.002 0.0025Ki# | 0.002:Ki#H
3F FTER=E 0.0085K# | 0.003%i# | 0.0023KiE | 0.0023KiH | 0.0025KH | 0.002kKH
3F FEE=E 0.0085Kj# | 0.003Ki& | 0.0025Ki | 0.0025Kj# | 0.0025KiE | 0.0025KiH
F E5BEE 0.008Ki# | 0.003Kj# | 0.002:5i# | 0.0025KiH | 0.0025Ki# | 0.0025 i
HRESTFRIETE 1F fRg= 0.008K i 0.053 0.0025Rj# | 0.0023Kj# [ 0.002Ki | 0.0025KiE
AR B A AHT 1-19-13 IF HREE 0008%i#% | 0011 | 00025k | 00025k | 0.002%ki% | 0.0025%i%
3F F2MERFE 0.008%3% | 0003k | 0.0025%i# | 0002k | 0002k | 0.0025%#
3F FicA=E 0.0085Kj# | 0.003Ki& | 0.0025KiE | 0.0025Kj# | 0.0025KiE | 0.0025KiHE
3F FreE=E 0.0085K# | 0.003%i# | 0.0023Ki% | 0.0023KiH | 0.0025KH | 0.002kKH
WA b A—E LB E O TE-2| T FEGEERE) 0.0096 | 0.006Kj# | 0.0205Ki# | 0.0705KiE | 0.0055Ki# | 0.004%Ki
AR AR EARS-4-21 TFRL—=45L—L| 00104 | 00065k | 0020%3% | 0.0705%k% | 000553 | 0.004%3%
BRSOSEEBSENETE | ogggm | oow | oon | ooos | oot | oooomm | ooooim | mhLEs
FHLRIELRL
4F EBEHE4S 0.029 0.0035k# | 0.002ki# | 0.002:Ki | 0.0025k# | 0.002%kH
S ches s M R RS TS 4F ETBEHES 0.032 0.003Kif | 0.0025Ki# | 0.0025Ki# [ 0.002Ki# | 0.002:5KH
AR B R R 1-2-41 IF LEHE 0.029 0003 | 0002k | 00025k | 00025k | 0.0025k7%
3F EBEHE2 0.027 0.004 0.0025Ki% | 0002k | 0.0025KiE | 0.002KiH
3F 64E 148 0.025 0.0035# | 0002k | 0.002:K5H | 0.0025KH | 0.002%FKH
RN = R T S 3F 64248 0.026 0.003i# | 0.0025Ki# | 0.002:Ki# | 0.0025Ki#E | 0.0025KH
AR ERERRE5-17-31 IF SESER 0033 | 0003%ki# | 00025k | 00025k | 0.002%ki% | 0.0025%i%
3F 5414 0.024 00035k | 0.002&#% | 0.002%& | 0.0025%ki& | 00025k
2F 14148 0.025 0.004 0.0025K3% | 0.002:KH 0.005 0.002 i
EENERREERETE 2F 24F 54 0.026 0.004 0.0025K3# | 0.0025;#% 0.006 0.0025 i
A BT ILEAE B 55 2-9-36 oF 24448 0.027 0003 | 0.002%i% | 00025k | 00025k | 0.002%i%
2F 24E 348 0.030 0.004 0.0025%#% | 0.002ki# | 0.002KiE | 0.0025%k %
4F 14248 0.030 0.003K# | 00025k | 0.0025# | 00022k | 0.0025KH
K E B b o R ke T 2 4F 16348 0.021 0.003if | 0.0025Ki# | 0.0023Ki# | 0.0025kKi# | 0.0025KH
ARBRATRIE B = #F 5 3R4-4-30 4F 14F448 0.027 0003k | 0.002&#% | 0002k | 0.0025%ki& | 00025k
4F 14540 0.029 0.003KiH | 0.0025K7 | 0.0025K:# | 0002k | 0.002:K7H
3F HE3-T 0.031 0.004 0.0023K# | 0.0025Kj# | 0.0025KiH | 0.0025KH
KENEEREERETE 3F HE4A-1 0.024 0.005 0.0025Rj# | 0.0023Kj# [ 0.002KiE | 0.0025KiE
R R ERE K E1-9-3 3F 51 0.028 0004 | 00025k | 00025k | 00025k | 0.002%i%
3F HE=E6-1 0.030 0.005 0.002 0.0025K5# | 0.0025k# | 0.002%k#
KRS RE B ERIEZOMTE RE 001K | 001K | 001K | 0O01RH | 001KHE | 001K
RIRTRBEARAT1-3-46 HE=E 001k#% | 001k | 0otk | ootk | ootk | o001k

KAEFRDBAIIFIZRRTALZFNIE(ppm] T,




MEREEVOTRICHNSERMEERIEEY (VOO FNERNEEAERR

TRR0ERE
% g B OE O# B
B E & Fr — =

oo i TTL’;JEF LTy | oLy ,\Ij él’/ 27y |22 g@”

EE T IE/NSRAB RS . . . . .
im%(‘ﬁﬁ%ﬂg;;é%ﬁﬁﬁéﬁﬁf$ haE 000853% | 0.0035%k% | 0.0025%5% | 0.0025k:% | 0.0025%% | 0.0025%5%
S B R E T HRE 0010Ki# [ 0010 0.010K:# | 0.010Ki# [ 0.010Ki& | 0.010KiH
AR R 1-1-59 B 00105k | 0.010k% | 0.0105%k% | 00105k | 00105k | 0.010%kH
WEE 0.008k# | 0.020%k% | 0.050%k#% | 0.080kKi& | 0.02K#H | 0.008%kKH

= Bt E > -

*Eﬁ%?%fg%ggﬂ?ff_f% 1F A= 0.0085K3E | 0.0205k% | 0.050%# | 0.080%k# | 0.020%ki# | 0.008%kiH
F ZEHE 0.012 0.0205#% | 0.005%# | 0.080%k# | 0.020kK# | 0.008kKH
3F HE1-1 0.020 0.010k# | 0.010Ki#% | 0.0105K#% | 0.010kKE | 0.010%kK

fw%? gﬁ%ﬁ;‘gﬁiﬁ F H=E1-2 0.010 0.0105K#% | 0.010%k# | 0.010kK#E | 0.010%ki#% | 0010k
3F #H=T|1-3 0.020 0.0105k3% | 00105k | 00105k | 0.010%k% | 0.010%KH
FOT NS e AR R E TS 3F HEHEI 0.029 0.015 0.002:K i 0.003 0.024 0.002:K i
ABRHREFREREFT-9-18 IF EEHE2 0.024 0008 | 00025k | 0003 0028 | 0002%3%
Eﬁkﬁé‘?ggégﬁr%ﬁ%%? 4F BE=E 0.020 0.0105k# | 0.010%ki# | 0.010K5 | 00105k | 0010k
£ 2R 3 == Z - - -
jtf&?;:‘gé&%ﬁaﬂf_ff RER= 0.008k % 0.007 0.002K#% | 0002k | 0.0025%ki% | 00025k
LEH=E 0.020 0.010ki% | 0.010ki# | 0.010k#E | 0.010%kE | 0.010%KH
22 [\ A dAs A o ah

Ej("Eg;ﬁﬁ’ffﬁ\%&m’%_lzé; BFERE 0.0105k# | 00105k | 00105k | 0.010K% | 0.0105k# | 0.010%%
TFEKRE 0.010kK#% | 0.010k#& | 0010k | 0.010FK#E | 0.010kKE | 0.010kKH
4F 45148 0.013 0.005 0.012 0.019 0.002:Kji#E | 0.002K i
AF A%E24R 0.017 0.004 0.008 0.013 0.0025k#% | 0.0023K %
F HEE 0.013 0.011 0.008 0.009 0.004 0.0023K i
BT NS B E L R Z D T = IF REEREE 0011 0.009 0.008 0.009 0.003 0.0025K it
ABRRAE KRS 2f2-13-2 oF EBE| = 0.0085k % 0.003 0.0025&: | 0.0025%:# | 00025 | 00023k
2F IR = 0.009 0.003 0.002 0.002:k#% | 0.002%i#& | 0.002k i
1F EIBEEE 0.010 0.003%ki#% | 0.0025ki# | 0.0025k#E | 0.002kiE | 0.002k
1IF EREHE 0.008 0.003 0.0025K3E | 0.0025k5 | 0.002%k# | 0.002kKH

3 [y oy = >
%%ﬁggggéﬁggg?gﬁl$ e 0024 | 0003%ki% | 00025k | 00025k | 0.002%i% | 0.0025%i%
IFHE1-1 0.020 0.003 0.002K# | 0.002FKH | 0.002FKE | 0.002FKiH
B he s R R e TS IFHE1-2 0.015 0.003k# | 0.002K# | 0.002K# | 0.002kK#% | 0.002kK%
AERHmRESTRS)11-2-21 P13 0020 | 00035k | 00025%i% | 0.0025%% | 00025k | 0.0025%%
IFHE1-4 0.025 0.003k# | 0.002K# | 0.002Ki# | 0.002ki# | 0.002kK%
QFHE2-3 0.021 0.005 0.002k i 0.002 0.002K#% | 0.002KiH
x%”f%ggﬁfg‘gfjf_% 2QFHE2-2 0.020 0.006 0.0023K & 0.002 0.0023Ki# | 0.0023KiH
2F#EE2-1 0.021 0.005 0.002k i 0.003 0.002K#% | 0.002KiH
Bp/ PR R R SE T3 REHE 0.013 0.003 0.003 0.005 0.002K#% | 0.002KiH

AR i B 15 B X PR B AT 5-7-40

KAEFRDBAIIFIZRRTALZFNIE(ppm] T,




MEREEVOTRICHNSERMEERIEEY (VOO FNERNEEAERR

T304
% g B OE O# B
B E & Fr — =
oo i TTL’;JEF LTy | oLy ,\Ij él’/ 27y |22 g@”
HEIYTF 0.010FKi# | 0.010FKi# | 0.010FKi#E | 0.010FKi# | 0.010FKiH | 0.010KiH
EERERBEBEERELE = : : : : : :
KIRFE = X %515 1L 75 3-5-6 BKE 0010 | 0.010Ki | 0.010Ki | 0.010Ki# | 0.010KiH | 0.010KH
e 0.0105k3% | 0.010%kiE | 0.010%k#% | 0.010%k# | 0010k | 0.010%KH
$¥%it¢$—$§$ﬁg§&ﬂél$ 1F SAEE=E 0.008k i 0.006 0.003 0.003 0.002:Kj#E | 0.01K:H
ARt 2 X = T 1-8-55 IF REEY 0008%3% | 0.005 0.004 0005 | 00025k | 0015k
ge E*ﬁqjiﬁﬁﬁiwf%@m T= BE 0.010KE | 0.010FKiE | 0010k | 0.010FKiE | 0.010KiE | 0.010KH
AR X FeAB3-9-23 e 0010%i% | o010k | 00tosk# | ootoki | ootoski | 0otok
AF =11 0.029 0.004 0.002k i 0.003 0.002:Kji#H | 0.002K i
FAEFFEREAONEIE = : : :
K BRT A B R 2 3312 4F HE=E1-2 0.033 0.003 0.0023K & 0.003 0.0023Ki# | 0.0023KiH
4F #HE=E1-3 0.050 0.003 0.0023K ;i 0.003 0.0025&% | 0.0023%
AEMERBEEUAEZOMRTE HRE 0.0043 00016 | #RHitY [ 00033k | 0.00365KH | 0.00145KH
A B HT 5 PE FHE T 4-9—19 BE=E 0.0061 0.0063 00174 0.0274 | 0.00355%#% | 0.00145k 5%
3F =51 0.025 0.0032k# | 0.0022ki# | 0.002:Ki#% | 0.002:ki# | 0.002:kKi%
3F H=E5-2 0.026 0.003k# | 0.002K# | 0.002K# | 0.002:ki# | 0.002kK%
3F =61 0.023 0.003k# | 0.002k# | 0.002k# | 0.002k#H | 0.002%K#H
Sk By N RE AR T 3F #H=6-2 0.023 0.003:R i 0.002 0.0025K3# | 0.0025Ki# | 0.0025KiH
AR B X R 52-2-24 oF HEE 0014 | 0003k | 00025k | 00025k | 0.0025ki% | 00025k
2F #HE4-2 0.017 0.0032k# | 0.0022ki#% | 0.002:Ki# | 0.002:Ki#E | 0.002:kKi
oF HE4-1 0.021 0.0035& & 0.005 0.002:Ki% | 0.0025kiE | 0.002%HE
2F #HE3-2 0.024 0.006 0.004 0.002k#% | 0.002%k#& | 0.002k &
EAHDERARBEREETIS == : : : : :
KR TR #4716 REE 0.040 0.0105K:# | 0.010%kK# | 0.010K | 0.010Ki#H | 0.0105KH
RN ERAEERZBETE == : : ; :
KPR E R A S E3-9-62 K& 0.079 0.003 0.0023KiH5 | 0.002:K5 | 0.0025Ki#E | 0.002kKiH
TN ERAEEREBETSE = : : : : :
IR 5 X T3 1 KA 0.041 0.0035%3# | 0.002KiH | 0.0023Ki | 0.0025Ki# | 0.002%FK;H
FARNERNVIAVEERBELS on i~ d - ] : :
KR TS R T A 2-6-8 AV =2 - ¢ 0.0054 0.0019 Y | 000335 | 0.00365K:# | 0.0014K i
EEANERAREEREETIS == ; : : : :
AR R B 8531761 AEEE 0.057 0.003K5H | 0.0025K: | 0.0025%K:# | 0002k | 0.0025K5H
M N ER AR B EREBETS == : : : :
IR 55 (R [T -8-33 A& 0.046 0.003 0.0025Ki% | 0.0025Ki# | 0.0025KiE | 0.0025KH
RS EMESETLSE . ; : :
BT A B R 1Lk 31 3-44 2F ZAM=E 0.018 0.007 0.0025K i 0.004 0.0025Ki# | 0.002K#H
=nsHERNIRIE TS - : : : :
SRR R = % -6-37 TLAI—LE 0.030 0.010K % 0.010 0.0105K5 | 0.0105KH | 0.010KH
FAEEE 0.010%K3E | 0.0105K% | 0.0105k#% | 0.010kK& | 0010k | 0010k
xEx*;_ﬂﬁygiélg{ﬁ;iﬁéiii?%I% RS 00105k% | 00105%% | oo0tos%ki | 0otoki® | ootoski | 0010k
AfzH=—IL 0.010FK#E | 0.010FKjE | 0010k | 0.010FKjE | 0.010KiE | 0.010KH

KAEFRDBAIIFIZRRTALZFNIE(ppm] T,




MEREEVOTRICHNSERMEERIEEY (VOO FNERNEEAERR

TRR0ERE
% g B OE O# B
B E & Fr — =
moE s by | wee | T | zmee |N0Z5R
B1F 7741 0.008K i 0.048 0.002:Kj#H | 0.002FKjE | 0.002FKiE | 0.002FKH
SR HNETS B1F 7hJ A2 0.008k i 0.048 0.002K# | 0.002FK# | 0.002FKiE | 0.002FK &
ABRTAL R o2 Bd-2-1 1F Tub5vAf—M1 | 0008k | 0039 | 0002k | 0.0025%ki% | 00025k | 00025k
1F IUbFVAE=2 0.008k i 0.050 0.002:K# | 0.002FKE | 0.002FKE | 0.002FK i
oF BERF=E 0.008k i 0.003 0.002k i 0.003 0.0025ki% | 0.002%ki&
HYEEL A —RIRIELIE = . . .
K BRTHE 7 T X 2E 22574 1F 8i8R=E 0.008K & 0.030 0.036 0.074 0.0025K& | 0.0025K
1IF X&(ER) 0.0083 i 0.020 0.022 0.044 0.002k# | 0.002K &
Bl £ B X 1R AR BISE SV BRI T Db T = i S . . . . . :
KRB R L0 E 140 BIF BIREHEE 0.0085K# | 0.003%i# | 0.0023KiE | 0.0023KiH | 0.0025KH | 0.002kKH
1E1IEZE(REE 1) 0.010 0.013 0.002K 0.003 0.0023ki# | 0.002%k;#
1E2E=E(REE 2) | 0.008%KH 0.015 0.002 0.004 0.0025k& | 0.002% %
T 1%15’3&%'3&3&1%1; 1E3EE(REE 3) | 0008k 0.011 0.002k i 0.003 0.003 0.002K i
ABRIFEHRMRERF2-12-26 | peyooe mzram 4) | 0008%5% | 0009 | 0002%5% | 0002 | 0002%3% | 00025%5%
ESEE(RBE 5) | 0.008K5E 0.006 0.0025ki% | 0.002%#% | 0.002%i& | 0.002%kH
ME6EE(RBEE 6) | 0.008K5H 0.005 0.002:k#% | 0.002k#% | 0.002k#& | 0.002kK &
fii%?ﬁtigéggﬁﬁi ETE | mom-mEs | 000skiE | 0007k | 0020k | 00sski | 0005k | 0004k
0O 1FREBE 0.0105K3E | 0.0105K5 | 0.0105%k# | 0.010kK%E | 0010k | 0.010%KH
2¥YRRBE 0.010k i 0.010 0.010ki# | 0.010kE | 0010k | 0.010kKH
XTHEEREMNEREZTOMISE e . . . . .
AR EBRRE R REE2-1-12 IFTRRE=E 0.010K 5 0.030 0.0103R# | 0.0103KH | 0.010%KiH | 0.010KH
AFRREE=E 0.010K# | 0.010FKiE | 0010k | 0010k | 0010k | 0.010kKH
ST RREB=E 0.010FKi# | 0.010FKi#H | 0.010FKi#E | 0.010KiHE | 0.010KiH | 0.010KiH
PESEINERATERFRUELSE == _ : ; : : : :
KR T R R T 2 1-16-5 1F ABEE(7Y—F)| 0.008kKi#E | 0003k | 0.0025KiH | 0.0025%KH | 0.002kKiH | 0.002:KiH
i P R EWE TH 3F HI1H=E 0.008%Kj# | 0.003Kiw [ 0.0025Ki | 0.0025KiE | 0.0025KiE | 0.0025KH
ABTE B 254-5-9 3F o= 0009 | 00035k | 00025k | 0.0025%i% | 00025k | 00025%ki%
EE{%?%F&E&{%IE M N = by N N
KR || R & [HA-10-15 RBE 0.0069 0.0129 BRHEF | 0.00355K5 | 0.00385K# | 0.0015%K
NIEARERE L RBETOMTH 1F 5FIREREE 1 | 0.008KH 0.003 0.0025Rj# | 0.0023Kj# [ 0.002KiE | 0.0025KiE
AR S AT H-1-12 IF 5 BEAEZ 2 | 0008k | 0003 | 0002k | 0002k | 00025k | 00025k
KEREABERth1ESRELHKSUETLS J—— . . . .
K IR T FX F AR 21 2-20 FEEEE 0.0105K 0.020 0.01K 0.020 001K | 0.01KiH
PR 2—E JLZE R R E S I2 S 1F BE= 0.0085&# | 0.003%ki% | 0.002%H 0.003 0.0025k#% | 0.0023 i
RXHABEZDOMITE
KR XI55 E4-10-18 1F 8% 0.008k#% | 0.003%ki& | 0.002k & 0.003 0.002K#% | 0.002KiH
ﬁmiﬁrﬁ$¥ty9—%ﬁﬁw@1$ IFEHEA 0.008k i 0.005 0.006 0.007 0.002K % 0.002
ABRTATEE 2 T RR1-1-111 IFEHKE B 000853 | 0003k | 00025k | 00025k | 00025k | 0004
EABERE Fﬁ%‘?ﬁ&ﬂ% T= IFERBZEA 0.008K jifi 0.003 0.0025Ri# | 0.002Kj# [ 0.002KiE | 0.0025KiE
AR SR X P e 5114 IFEE=B.C 0.0085 i 0.008 0.004 0.007 00025k | 0.0025%ki%

KAEFRDBAIIFIZRRTALZFNIE(ppm] T,




MEREEVOTRICHNSERMEERIEEY (VOO FNERNEEAERR

KB i B £ B X AR IBT AT 3-11-12

TRR0ERE
% a3 B OE #H R
B E B FF == "%
I s by | wee | T | zmee |N0Z5R
EBREFETRELE REES 0.008K jifi 0.005 0.002Ki# | 0002k | 0.002KiE | 0.0025KiH
RO | X A 4217 RE =6 0.0085ki% | 0.003ki% | 0.0025ki# | 0.0025ki% | 00025k | 00025k
%t#ﬂ%}}ﬁ%g/ja&ffgiﬁﬂi%ﬁﬁ IFREE 0.0085Ki# | 0.003%K# | 0.002KiH | 0.0025K# | 0.0025KiH | 0.002KiH
B EoZ
ABRT L R K #4E6-4-20 TFERELE 0.009 0.003K# | 0.0025Ki | 0.0025K:#E | 00025 | 0.002kKH
ERNER BRSNS TH 2F HEAE 0011 0.004 0.003 0004 | 0.0025i# | 0.0025kii
ARl 25 X AR T 1-26-30 oF BBKE? 0010 0.004 0.003 0004 | 00025ki# | 00025k
RAPTRER RPN T METH | 1py sRI%BRE | 00085%7 | 00005 | 0.002% | 00025 | 0.0025% | 000257
’L‘Ef[‘ﬁm_‘?';'%(f'g{;’igtpa— 1B STEAUAE! | 008K | 0007k | 002k | 0088k | 0005k | 0.004%3
SEEREEAERE
KB FHF X EEF6-2-55 1R SEEMAE2 | 0008KiH | 0.007RiE | 002K | 0.088Ki# | 0.005KiH | 0.004Ki
FHRENERFNELE
Y I—REIE-2 FRIEERE 0.010K3#% | 0010k | 0.010K:# | 0010k [ 0.010KF | 0010k
KB F 27 X FErra2-3-8
RINRRtE A—R—VERBEIE _ : : ; ;
KR | R B - 1-5 3F w—JL 0.0085K % 0.019 0.0025K i 0.003 0.0025K3# | 0.0025%%
R e B L DR TS BEE 0.0085k:% | 00073 | 0.0205%3% | 00805k | 0.0055%5% | 00045%i%
FIET/INERIGEEREHME RIS = : : ; : ; ;
KR R R 2 2P 6-1-14 HRE 00085k | 0.003Ki& | 0.0025KiE | 00025k | 0.0025KiE | 0.002KiE
AERPERGBEERIERME RIS = : : ; : ; ;
R BR T 76 X 2 0-6-2 BR=E 0.010Ki& | 0010k | 0010k | 0.010FK:# | 0.010KiE | 0.010KH
HRE/NERGRERERMRETISE = ; : ; ;
KR T IF (X & 2 3-23-34 BR=E 0.005 0.003 0.001Ki& | 0.001KiE | 0.001KiE | 0.001KiH
KEVNERAE T DR TS = : ; : ; ;
F PR 48 B X A B2—10-28 HwEE 0.009 0.0073Ri# | 0.0205K7 | 0.0885Ki# | 0.005%KiH | 0.004KH
BMEDFRABETOMBHHRELE = : : ;
KR AR K B A3 10-3 wE= 0.004 0.0013K 0.001 0.001 K% 0.002 0.001K 3
FINFRBEEAMHE T DibMRRETS “wa= 0.004 0003 | 0.0015k:# | 0.0015k# | 0.0015k# | 0.0015%k
SHNERAET DM R TS = : ; : ; ;
KRR E || R 2 541 7-26 HBR=E 0.008 0.0075K3# | 0.0205KiH | 0.0883Ki# | 0.0055Ki# | 0.004%FKiH
BINERERERERMRFELE = : : ; : ; ;
KR T F || 2 AT 2-5-23 BR= 0008k | 0.003Ki# | 00025k | 0.0025Ki# | 0.0025KiE | 0.0025KH
BARNERMERESERMRB IS = : : ; : ; ;
AR | R IEA3-5-6 BR=E 0008 | 0.003k&i# | 00025k | 0.0025Ki# | 0.0025KiE | 0.0025KH
RELPREREK-EATRETE BEE 0.0085k3% | 00033 | 00025k | 00025k | 0.0025%i% | 0.0025%3E

KAEFRDBAIIFIZRRTALZFNIE(ppm] T,




